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. What is the final value to which the matrix {3 6| can be reduced?
2
(1 -9 ) 15 3):13 2 @13 6
6 1 2 1
. Two matrices are equal if, and only if, all corresponding elements are
(1) unequal. (2) equal. (3) zero. (4) one.
. The number of rows and number of columns in a matrix
(1) are always equal. (3) can be equal or unequal.
(2) are always unequal. (4) always have a certain ratio.
. The determinant of a matrix can be found only for a
(1) nonsquare matrix. (3) rectangular matrix.
(2) null matrix. (4) square matrix.
. What is the determinant | 4 | of the following matrix?
1 6 -1
[A] = |0 6 2
1 2 2
(H|1 6 -1 3) E 0551
0 6 r1n2 6 6% 2
1 20D =522
@10 6 . .2 @ |1 2 2
| 6 -1 0 6 2



